koztato tabla

-

djé

2.t

(IT+6+L+1+1) uasazssQ

Tl
(qps “sgreqpadyssazay 53 epueaes :g) qaksy 11
01
Juquoseyingay yosgpeny senlngay ‘6
‘8
JUPTUOSPZEYNII] HOSEPED] ISEZEYNIIG L
9
S

Cays ‘spraysea adedyn s ‘souzsspgpny) |
HOSEPER] ISEZOMIZSULUL NP ISEZOW[RY2 4 4
'€
T

Cqis ‘sgppsea aydedyore ‘spyzsapoyaniy) .
HOSEPED] ISYZOIZSUBUL NI 1ISIPOHNIN :
(H+D+4+3+Q)=1 H ) 4 q a o d v

ugn i .
. 00T 610Z ‘B10T
UISIZSS() U2k SPIZYN oA awdol Sasyazaajo i
.. mopR 810z eA 0y T e ~l10g
JUPHUIAY BJBZUOA SEPRIY
JuDqQruI0.g

JULIIZS OID DAYSIZSSQ §9 UBGSEIUOY BUINUIAY ISY)ISNIIZSWYZS HISIHuQp 01l [essejeqmy $9A9qqo .




